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Part- III 
BIOLOGY 

Maxim1.1-m : 60 Scores 
'Time : 2 Hours 

Cool off time : 20 Minutes 

Preparatory time : 5 Minutes 
/' General Instructions t~-Candidates : 

• There is a 'Cool off time' of 10 minutes each for Botany and Zoology in addition 
to the writing time of 1 hour each. Further there is a '5 minutes' 'Preparatory 
Time' at the end of the Botany Examination apd before the commencement of 
the Zoology Examination. 

• You are neither allowed to write your answers nor to discuss anything with 
others during the 'cool off time' and 'Preparatory Time'. 

• Use the 'cool off time' to get familiar with questions and to plan your answers. 
e Read the questions carefully before answering. 
o ·All questions are compulsory and only internal choice is allowed. 
0 When you select a question, all the sub-questions must be answered from the 

same question itself. · 
• Calculations; figures and graphs should be shown in the answer sheet itself. 
• Malayalam version of the questions is also provided. 
e Give equations wherever necessary. 
o Electronic devices except nonprogrammable calculators are not allowed in the 

Examination Hall. 
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PART- A 

BOTANY 

Maximum: 30 scores 

1. By observing the relationship of 

the first pair, fill in the blanks of 

the second pair. 

a) F. W. Went :Auxins:: 

E. Kurosawa: ............. .. 

b) Auxins Apical Dominance : 

Overcome Apical 

Dominance 

2. Identify the statement which is 

applicable to cyanobacteria. 

a) Important decomposers 

b) Form blooms in polluted water 

c) Presence of prominent nucleus 

d) Completely lack of a cell wall 

3. Prokaryotic cells possess a special 

membranous structure which is 

formed by the . extensions of the 

plasma membrane in the form of 

vesicles, tubules and lamellae. 

Identify . this structure and write 

(112) 

(112) 

(1) 

any one of its functions. (112 + Y2 = 1) 

4. The deficiency symptoms of macro· 

elements like calcium tend to 

appear first in the young tissues. 

Why? (1) 
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Time: 1 Hour 

Cool off time: 10 Minutes 

1. 63ffiKlo 6nJffi.llo 

. Qlm<1iJle.JOce6)1W®1m6 . <llC/1>o.91o C061150o <ll~OM1 

ruJ ro1<;8Jce6) ,!,db. 

a) F. W. 6Ku~ : 630cfu'cru1m6c£hci0 : : 

E. dh,!,<ll00(fl)OQJ : ........ ~ ...... ... .. 

b) 630cfu'cru1® : nm<;8Jce6)ai3 <ll(U)0Ql1m®m) : :. 

n(J)<;8J<£16)ai3 <llMOQl1m®m) 

6nJOc£huS'lt01<Wu<£16)u 6nJO(J)c£hQ)OCQ! OJ(fl)u®,!,® 

o@®06ffi? 

b) Qle.J]m~e.Jwrm1ai3 '6QdJo' ~6ffil0<£16),!,ffil6 

c) OJjcOO))QlO<W Ql &amo dhO 6m6l<;lj S,!,ffil6 

3. <lltnJOc£hOC01<ll<W0§1cfu' <llc£hOC/1>60B~1ai3 e.J06lQl6l~, 

6lOJ cru1 ce6)1 ~6c£hUO, SJJ6ill6~6c£hci0 C1(J) ffili 

COJnJ60B~1ai3 <llc£hOC11>fQltO®m16l~ woroo~o 

QlScOO ,!,dhc.ib c£h06mo® c£h Y'l w ,!,ffil,!, . . ~rn ne:J sm 

o@®06l6mCffi,!, ®1C01.!?.J01<W,!,c£h, g;Q®16l~ 63CO,!, 

(%) 

(112) 

(1) 

(% + Y2 = 1) 

4, c£hOai3cruj6l®m<ll<;lj06le.J<W,!,~ Ql~e.Jc£h60B~6lS 

((ll'()nJCOj0nJu®®Oe.Jc£h9::16mo ar@Bjo c£b 6ffil,!, 

tnJOCQ!o 

(1) 



5. Anaerobic respiration is also occurs 

in animal cells. Suggest an 0ccllsion 

for thi.:o. 

6. Normally, roots grow into the soil. 

But in some plants like Rhizophora, 

many roots come out ofthe ground 

and grow vertically upwards. What 

are these roots called? Give their 

(1) 

function. (12 + 12 = 1) 

7. Ammonia is first oxidized to nitrite 

and the nitrite is further oxidized 

to nitrate. Name the process. Give 

any one example of a bacterium 

which is involved in this process .. 

(12 +% = 1) 

8. Which one of the plant growth 

regulators wou~d you use if you are 

asked to do the following 

processes? 

a) Induce parthenqcarpy 

b) Quickly ripen a fruit 

c) . Induce immediate stomatal . 

closure in leaves 

d) To increase the length of grape 

stalks. (4 X Y2 = 2) 
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5. gf6mD2,<8cfu0Cf1l6lffi~1~ ®1JQJOCW~Cf1lj(ft)ffiClJ2,o 

mscOO:::Jo~Gf"@'. 63(06 (ft)ffiibrso oB)lf'J,COlJ,cfu 

(JlClJ(06cfucro ~GnSU. gQ'D Cl0J(OJ,cfu6l§_ 

oB)mDJ,oJ1§.1c006Cffi6? gQCOJ16lcf3 WiOQliio 
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(1) 

('l2 + 12= 1) 

7. ®ilClaJ:::l6m1CW 63:::lcfu(ft)icfuro6mo msCT"ll m®B.)o 

616lffi6l6llSRJ,o cLJ1cmisu 6l6lffiCll586al:::lCW1 

QJ:::l06Cffi2,. gQ'D aJ:::lR6lffi6l§_ oB)mD6 o.llglc006o? 

gQ em) ro o m o R 6ciB cro c00 6 (ft) nD o cw1 c00 6 em 

nB36lCOJIB:>1eJJ,O 63C06 6YlJ:Jcfuusico1cwcw66lS 

(12 + Y2 = 1) 

8. COl06l':l'<J::jOCWJ,ffiJ cfu:JC0.)6lfficro (ft):JW~QJ:JcOO:Jcro 

m16lffi cro nB36l COl~ :Jo (ft)(ft) J (Jl n.O:::lroCl Q):J6ll),~cfuci0 

~nJClCJ:lJ:::J(f)1c006o. 

c) gQ e.1 abgl6l e.1 aJ® (ft) .)(0 mt w6lffi cro 6) n.1 6l§CT"ll 

®ilSCW2,ffiJCOJ1m 

(4 X Yz = 2) 

(P.T.O.) 



9. If you cut through the root nodules 

of a pea plant, you will notice that 

the central portion is red or pink. 

a) What makes the nodule pink? 

b) Mention the role of this pink 

pigment. 

10. State whether the statements are 

'true' or 'false'. If 'false', correct the 

statements by changing . the 

underli!\ed words~ 

a) Aleuroplasts store 

carbohydrates. 

b) The centrioles form the basal 

body of cilia arid flagella. 

c) Ribosomes are not surrounded 

bv membranes. 

d) RER is the :inajo·r site for 

(1) 

(1) 

synthesis of lipids. (4 x % = 2) 

.- 11. The following diagram represents 

five petals of a flower in a plant 
belonging to a major family. 

. 9. 63<1)6 nJQ2J{b 6).2JS1W66>S Ql~eJO<b611J6Bo Ql601-8:J6 

~moc:OOiworo'D !Lic!,C\Jnncg®o o.Jlcgffioo ar©coJl · 

~cl3>l<BISO(I)o cfu06mOcfb e&.><9JW6o . 

b) g)2'D o.Jl~ · ru&6ffirum)c6l.!,o.ll@<iJl w&amo 

nmrrmo6Tl)? 

i 
1 10. ®0@<9<;ijOm>6rm o.Jcru"®6®c&.> cJii . C-0m1~m>o 

6)®~Ro O{D6Jrm:'6®6c&.>. 6)®R06)6mffi:>1ro'D 

· . , (ij'[()SJrummll§1m1cOO.!,Cffi nJB~imcib Ql::JL®o QlOR1 

I 
I 
! 
I 
! 

a) ®llelJ~OOQ,d0@6cfucJii . cfuo{bcg611J:)-

6)6)nD(g!CUJRI6)ffi CTUoi'Sro'icOO.!,Cffi6. 

b) 6)mJ<ib!S1~m>O§lcfuW 6)cfu06ll'S06ffi cru1e.llm> 

W6<l:SW6o cbfd~~W2,~Sm>2,o <X611J(TU!liD 

~6l1J ocw1 ~6ll'S0<001 mil ro1 cOO .scm®. 

c) 6)6)0~6l1J:)(g(TU0Q)J,cfu6)~ CQ.Jffi60BcJii 6)cfu0Gml 

®]20Jffi6mo 6)DJW®1§~ 

d) RER <n'@6ffi e.llCLnew.sce,gy,6)s LnJwom 
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(1) 

(4 X%= 2) 

· 11. OJ~6)<1) LnJ WOffiQlOW 6~<1)6 CTUCTU.,\cfu2,SJo61ll -

®m161e;, 63<1)6 6)DJS1W.!,@S nJJo.Jl6)dJl <lml6mJ2, 

B ~ 6013 ~6 6) s DJ1l ®Ql 0 6l1f 

6)cfuOS.!,CO'fm1m1cOOJ,rm®. 

a) Identify the~ family. (1) · a) g;Q:U . CTUCTU.,\cfh.!,S.!,o611Jo 043®0®? ( 1) 
b) Write the floral formula of the b) ?::Q'D nJ2,n91'nJ(lff'IT)16)c~ ~~ooio'n <::n-OO<baJ2,eJ 

flower. (1) · 

I 
n(D'92,®2,dih. ( 1) 
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12. L'nli ke a majority of the 
pc eridop hytes, genera like 
Sela ginella and Salvinia show a 
.miqu.e feature in spore formation. 

a) What is this feature? (1) 

b) Briefly comment on its 

significance. (1) 

13. Match the follo wing columns 

A and B. (6 x '12 = 3) 

A 

a) Companion cells i) 

I c:Ehm.J om1 cwcro G:c;EhO CJD6lll3cfb 

b) Lenticels ii) 

6) 8.1 <"Vl16lffi)cnn 

c ) Bul1iform cells ' iii) 

6Tli~~n.noo ~&7.>0CJD6lll3W 

d) Subsidiary cells iv) 

cru 6ill"mll <:W1 cwo1 <ll&T.>ocm 6mcill 

e :\Iesophyll cell~ v) 

:: J .~:Jon.01cnn ~cfuocm6lll3cill 

f) L~do dermal cells vi) 

12. e5JC01CLJ&M1o 6lso1~M06l6ln.Offi&T.>glcnn m1cm6o 

oJl@lcmOloWl 6)()1)eJOW6lm~, quocnnoJlm1cw 

O{i)cm1ru ~ro6TD6c.00~6ls ~mnilioBmwm1mn 

63CO.!, oJl~cmrm (fl)jcsoruo &T.>06TD1c.OO,scm6. 
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a) m® (fl)oJl~CRic-m® o.q)crn06TTP ( 1) 

b) §2®16lCVl l<LlOWOffiJ6lW®c.OO.!,Ol!?,,( 

(1) 

13. ®06>':9 6l&T.>os.swm1co1c.OO.!,cm A ~&T.>O§.ClJ6o B 

~&hO§_ClJ.!,o ~.!lJCO.!,o<LlS1 ~.!lJillcOO,S<fr>. ( 6 X ~ = 3) 

B 

Stomata 

@'@ffi)JromLWo 

Chlorophyll bearing cells 

nnro1®&T.> ruonnoe, ~oe,ocm6lll3w 

Casparian strips 

~ocru~nJro1CllJcm cruLSl<JJ 

' Present between xylem and phloem 

6)6)ffi)eJ<m>1ml,o ~~ocwwm1m,so §2Scl25lcnn &T.>06TD6cm6 

Phloem t:i;ssue 

~cog 0 Wo &7.> 8.1 

Empty, colourless cells 

n£·~ ~ :..__ ::5KWiii Ol<l!~ ~&7.>0Ull6lll3cill r:ruill6mcon.01® _UDJffiJ~cfhOC/D6lll3W 

vii) Exchange of gases 

, ruO®&T.> oJlm10l<Wo 
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14. Glycolysis 1s present' in all 

organisms and it is the only process 

of. r espiration m anaerobic 

organisms. 

a) What is glycolysis? 

b) Where does glycolysis occur? 

c) Glycolysis is a partial oxidation. 

(1) 

(%) 
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14. 6l6lg]Cla76l0@1ml1ml" 08)~8 ~inflca,@1eJJ,o 

ffiSd7@2,ffi1J,, amlOJ:)CQJ~ CfOJCTDOI ~oJldh@1mn 

~® a:iol ®mo&~ Cl{Bc:BJCJO J CTDm l CLJldh 1w. 

(1) 

c) gQ6l®Oro6 @O(I)1ca, 630cfu'mJlca,ro6IDQ)06ffi". 

JuS,tify. (1) 
mlOW~dM1d7@J,cfu. (1) 

d) Calculate the total number of 

. ATP molecules synthesized in 

glycolysis by the partial 

oxid0tion of one molecule of 

glucose. 01:!) 

I 

d) 63(1)6 @('Q):)l®O W4<ZcOOOCTD16lctil @0(1)1cfu 

63oca;'CTDi dh(l)61Tl o m,yill o noli m al6 6!150dh6 <m 

@@6)ca, ATP ®dOmoLcmca,UZ> Q{J)L®6lCQJon" 

15. Prophase of the first meiotic 15. 63<moo §?_"Dffi@oCO~l6leJ ClloJOa:nDm) neJ§o 

division is typically longer and ill@6lCll 6l6lBroneJ~ClQ)01CPJ@J,o (rum,iro~ 

COmplex. It has been further nJ.?,Ql:)6ffiu. g;Q®16)(Y) (Ul6fls,\O @()6'r.J2r ~n_j 

subdivided into five phases. The neJ§6m@OcWl(rnl)1ro1~1cb1d7@,S<m6. ~'0 ~CLJ 

·major events of these substages are 

given below. 

a) Pair ing of homologous 

chromosomes. 

b) Terminalization of chiasmata 

c) Occurs crossing over 

d) Chromosomes are visible under 

a light microscope 

e) Formation of chiasmata 

i) Identify the stages a, b, c, d 

(~.2J <lJ6C"fi)6 

b) cfuCQJO<TOClQ)f) ®i)OJCTDOmid7@~ffi16 

d) Cllc£hODlClCTD0())2,cfuW 6l6l£WLc£hOm)'a:<fbo~mn 

B~CJO~QlOOJ2,rfDJ, 

i) a, b, c, d, e omoni o.e.i§6m3W 

(%) 

and e. (2%) @1m1q,Jo1WJ,&o. (2 '12) 

K.:.46 

. ii) Arrange these stages m 

correct order of occurence. (%) 

I 
6 

ii) ~"D nel§6m36l@ L&JQ)Q)::Jc001 Q)Of)1 

08)'92,®J,o9>. ( ';;2) 



16. Plants that are adapted to . dry 

tropical regions have a special type 

of CO, fixation in addition to the C3 

cycle. 

a) Name this pathway. 

b) Can you identify any speciality 

in the leaf anatomy of such 

plants? If so, ',vhat is this 

anatomy called? 

c) Which is the primary C02 

acceptor in this pathvvay? 

d) Write any one advantage of such 

(1) 

(1) 

(1) 

plants over c3 plants. (1) 

OR 

· =:-"- ~',·in in algal photosynthesis 

~~ .~:L.es led to the discovery of C0
2 

~~ ~·: _:.: i on in green plants. 

a I ~~ ntify the first stable. product 

~~: :~is C0
2

fixation cycle. 

b) \'.-~--:..:--_:cue the three main stages 

c) Nan:.~ ::"e enzyme which 

catalyz~.:. : :::e first stage of this 

cycle. 

d) Work .out ::.~· "'; many ATP and 

NADPH ElJlecclles will be 

K-46 

1·equired to make one molecule 

of glucose. 

I 
l 

I 
I 

(1) I 

(1) I 

(1) 

(1) 

16. ClJC06f'r5 ~n91"6ffiaCD@J~0 lnJ~BU06&B~1Cll'O 

cfu 0 611) 6 em .!.lJ1 ~ ffi)()l)J 6m3 ciO £6)u c 3 

n.Jro1ru~(Olll)1£6)6 nJ60<XQJ 63<b6 lnJ~®Jcfu 

®CO(Olll)1~~ C02 crutJ1roicfuco6TDru2,o cfuJS1 

cfu06ffi6cm6. 
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a) g;Q":l nJ0®cxru <1@®0611)'? ( 1) 

b) gQ (Ol1l) roo crtJ tru J 6m3 ~6 6l s gQ ~ cfu ~16> ~ 

Ill'@ ffi) ro neJ s m mr c£16)u <1{D 6l ffi) ffi:, 1 ~ 6 0 

lnJ<X®Jcfu®(!l)6<X6f'r50? ~6l6f'r5!Bo1Cll'O ®ll®' 

Cl{j)61!13 6lm rowo1 CQJ6l<J:j S6cm6? 

c) g;Q®16l~ lnJ0lDCD1cfu C02 cru]lcfuoro1 

<1@®0611)'? 

d) c3 crucru,jar36l~ ®ll<XnJcMIJ_8,r mcn-mroo 

(1) 

(1) . 

crucruJooci6c£16l@.§ 63a>6 (gCDcm Cl{j)<;6C6>6cfu. ( 1) 

CIM)6) ~IB>1<11'& 

C14 aocw1aCQJ0 <ll'@cfu'S'lruu 6ln{j)<XCTU0cxsoc;;:r 

~ nJ ex CQ) 0 (f)1.8i (!f@) am (f) ce,~16l ~ l nJ ce, 0 (fl) 

cruocx g:gnS:~6ffi nJ a>l .w16TD(Olll)1 ~J6lS 6lmm'Oo.Jkro 

cfu0Cll'On.II® CO
2 

cruo1roic&.,ro6Tno c£b6l6Tl'5(0)'1l)1. 

a) g;Q":l CO
2 

cruo1ro1ce,ro6TT) !l.llc£b(Olll)16l~ 

(!f@)BJ · ~Cll'O<;tjCTDo <1@®0611)'? 

b) gQ®16l~ lnJW0ffi CDJcm6 Cle.J§61!1300 <l@ClJ? 

m1ibam06ffi(Olll)1m0ruCRJJCDoCQJ ATP, 

NADPH ®cmot®ce,ci6 oB)l®6lCQ)cmu 

(1) 

(1) 

(1) 

(1) 

(P.T.O.) 



PART- B 

ZOOLOGY 

717 

Maximum: 30 scores 

1. Align the taxonomic categories in 

. the ascending order. 

Genus, order, phylum, species, 

family, class, kingdom. 

2. Complete the following sentence 

using appropriate words. 

a) ........ ... ·hormone controls the 

diurnal (24 hour) rhythm. 

b) Insulin controls ......... level of 

blood. 

3. Name the chemical bonds formed 

between the following : 

a) Amino acids in a protein 

mol~cule 
I ' 

b) Sugar and phosphate in nucleic 

acids 

4. "All vertebrates are chordates but 

all chordates are not vertebrates." 

Evaluate and substantiate the 

statement. 

K-46 

(1) 

(Y2) 

(Y2) 

(Y2) 

(2) 
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Time: 1 Hour 
Cool off time : 10 Minutes 

1. ®06)'9 <;t:l 0 Cll) 6 on OJ rocai cS:,(l) 6ffi Clill50(1)6m00 

m@<UOOnD6ffi . l cS:,Ql ®m1 aft> Cl{j) Y' 6 ® 6ce:, · 

1!16imm.r, 63ocwro, 6l6ln.OeJo , IQjicili'lm.r, 

a) ...... .. ... ... ... omnn ~nDOCO~Ql06'1i0 m®6ffiu 

6l6lCWWJC06ffiafO (2 4 hour) o11.Do 

a) 63<ll,J. ~lnJ03l<ib ®<UlOL®m5l~eJ ®<l£2l1~mo 

m®OU1CW,J.cS:,OO ®am1af0 

b) ffi,)J~1ce:,u m@OU1CW,J.cS:,~16leJ ~,J.WO,l.o 

4. 'nB)~ o 6lOJ C0§1~l6l'lJ 86ce:,~6o ~ce:,oro~cw8 

ce:,~o6Tli'. nB)nnOafO ~0 ~ce:,oro~CWficS:,~o 

(1) 

(Y2) 

( %) 

(%) 

(%) 



5. Where do you find the following 

structures in a human body? 

a) Collagen fibres 

b) Axons 

c) Squamous e:eithelium 

d) Smooth muscles (2) 

6. Blood transports C02 from tissues 

to lungs by various means: Mention 

any two methods ofthe same. (2) 

7. Give two . examples for each of the 

following : 

a) Synovial joints 

b) Muscular ·proteins (2) 

8. Distinguish between cofactor and 

coenzyme with an example for each. (2) 

9. Fill m the blanks with suitable 

terms according . to the indicators . 

shown below : 

Indicators : a and b - food habit I 

c and d- Excretory organ 

a) Cockroach : ........... . 

b) Earthworm : ......... .. .. .. 

c) Cockroach : ............ . 

d) Earthworm : ............... .. 

K-46 

(2) 
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5. Qlffi6~~ (RJ an (!) mm1 cn'3 ®06l'£'<;lj0W6Cffi 

@OW6ID3cJb ng)oJl6lS cfu06TTl6l<;ljS6c;m6· 

a) 6lcB,o~o~m moffi6c&cm 

b) lll'@ce:;'<Xcruo6TTl6c&c.ib 

c) m5'c&JO.mcru ntJ)<;8J<mmieJlwo 

d) crU'mJcmr mcru1eJ6c&c.ib 

6. d3,eJ £~1 cn'3 m1cm3o · 07lJO<ru<Xc&OC!Il<mm1<XeJ.oo" 

nJ eJ ru1 W(lm5)1 eJ 0 6m" ceo o iO 6llJ 6TiO 6)6)•(U) 

63oce:;'6Jcrucu} ·cruorun.amo 6l.!lJ ~6l<;lj S& m"> ®. 

g;Q®16lr~ 0@6l®ah1eJ60 C?.l6irSU m o «>'&6m3 cJb 

oJl ooBl &:nro1 c003c&. 

7. ®0~'£'6lcOOOS60®la.l1c006cmOJW"cOO" ffi6irSU 

~Bon.a(l)®6ID3c.ib mcn'Oceo6&:n. 

a) cru1<Xmoo.Jl wm crumw1ceoc.ib 

b) QlcrUcfu6eJOiO <XlnJOg\rh6c&c.ib 

8. <Xc&On.00~06~§.6o <:&hOng)ffil6lE1)<rual6c&~2P 

®12l:ll1eJ6§.§ OJ~®~O<ruo ~BOnDC?.l6TTl .(lUn.01®o 

ru~ce:;'®qoc006c&. 

9. ®06l'£' 6lcfuOS60®1C?.l1c006Cffi <<ruJ.!lJcfu6nBUO 

~nJ<XWOCJ.llq.,!" OJ1§&<lnJOW .CS0(1)6ID3U0 

~.a..Jl (lj)Ql()(!l) OJ0c006cfu gpcn'O nJJC?.l1<;8Jc006cfu: 
. . 

<ruJ.!lJcfu6nBUO : a & b lll'@n.OOC?.l ail®1 

e & d ·tJ]~~m <'m'l>ruwru6ID3cf0 

a) nJOR: .......... . 

b) m~1ffi : .... : .. .. 

c) nJOR: .......... · 

d) m~1ffi: ........... . · 
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10. The output of urine increases in 

cold days while decreases in hot 

and sunny days. Can you give a 

reason for this phenomenon as 

realized from the graph given 

below? (2) 

10. OlJl®®m161CVl ~~C1..l0Gffi m1<0cOOv ®6Tn2,<J::j6 

B1CLJcru6ID3~1~ cfuJS6d3o<W6o illJS6~ 

B1rucru6ID3gl~ cm60<W6cm<W6o 61illCRJ006~· 

®06)<j>6)c000S6®ITJ1 <01 c006rrD lWOn.01 ~ 

m1rm6~ cruJillm ®()ffi6cru<01..~f g)2'D 

l C1..l ®1 cs o cru ®ITJ161 evs 

o.JlcmBicfu<01c006cm. 

Atmospheric temperature 

11. Name the distinctive character 

(responsible for their names) of the 

following animal groups. 

a) Cnidaria. 

b) Arthropoda 

c) Porifera 

d) Annelida 

e) Chordata 

f) Ctenophora 

OR 

Your Biology teacher exhibiteq a · 

laboratory specimen m the 

classroom. Based on which features 

will you distinguish it as a chordate 

or a nonchordate? 

K-46 
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(3) 
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11. ®06)\j> 61cmOSc?,®ITJ1co1cOOc?,tm ~ru ru&e&61iB61~ 

~ruro®1co1.q,f ®()01wom6~ ntBRCLJ6o 

lC1..lWOffi61<J::j§ cruj@OQJ ru1~CfilnS:lo 

( ~nJC01®ClC);ljBQJO<W) ~<g2,®J,cm. 

a) cfu'm1~cwo1w 

b) Cll'@ffi<lil®O<linJOCUJ 

c) a:nJoo161n.OO 

d) @()6)ffieJlCUJ 

e) ~,moro~cwR . 

f) cfu'Ria:moa:n.aoo 

rom 6l ~ llh 1 ai6 

m16l513~.!,61S 6l1J<li<W0~~1 ®()BJJ~OC1..l1cm 

C1.JCOic:M:16TnCfilO~O <l:Cfil6)J(O®ITJ1~ m1tm6o .63CO.!, 

~o.Jl61w ~ocru1~ lC1..lBrocm1~-8.J6· 0@61®~oo 

· cru ru1 a: Cfil nS:J ®em ~6 61 s @() s1 CTUJJ om ®ITJ1 ~ 

lC1..lCQl6® ~iru1 a:ce,oroa:cwR ( ,ma:cmco6cm1) 

woa:Gmo, a:moGriOa:cmo&a:cwR ( ®()cfu<l:CfilC06cfu1) 

woa:Gmo ~m1 m16l513cro ®1colg,~o1w6o. 
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12. Sketch an outline (or a flow chart) 12. m16013 §6 6l s (!ll?J em nJ l.O ®1))1 am msc:B6l6cm . 

of protein digestion taking place in ~LnJO§'l® ( moocrudo) Gn.Om LnJLdh1CWW2,6lS 

your alimentary canal: (3) 63Cl>6 (l)~nJ~(l)6lJ (!ll?JLOOJO ~t"),(j O.!l.JOiO§u 

®~000c:B6l6dh. (3) 

13. Write the functions of parts 1. and 13. <mo6J'5' 6lcft>OS6®1))1ro1c:B6l6cm cru1modcru16l~ 

4. Label the parts 2 and 3 in the .2.ilL®o m1ailcW:fl.g,J' 1, 4 ntj)cmi c50(f)6ni3~6lS 

following figure showing a synapse. WroQll:lo ntj)l5'6®6dh. 2, 3 ntj)cm'l c50(f)6013@2,6lS 

(No need to copy the picture.) (3) (JlnJ6)C015'6®6dh. ( .2.l1L®o oJdhib®1))1 

OJ(l)~c:B6)6ll5®1~) (3) 

K-46 11 (P.T.O.) 



14. Answer the following m a fevv 

words. 

a) Significance of pulmonary 

circulation in man. 

b) Function of erythrocytes 

c) Pacemaker for a human heart 

and its significance. 

d) Normal blood pressure of 

human beings and its variation 

during hypertension. (4) 

K-46 12 

14. ciD06li9\BOCQJ6(iD G!.LI08~6lffi00c00' o.@®OmJ,o . 

ruo.oo6oe:,gJra ~(l)'IIDro6Jm'l'6®~cfu. 

a) ffiffi.?,n9.1~m1co'O nJCJ~ QJ6m01 <mib<B6>.?,<lleJ 

n'l16J~ lnJOWOm,>o. 

b) ®1J(0.!,6ffi 0c€Ju(Q)06ffi6c.S6)~66JS 

( omo1GL®06>6><TUR~.mcin > wibamo. 

c) mm.?,n2::1,) ru.")~G©®O'fi6J 2j G nJ cru"<ll m<B6> 

016JoA ln.JOWOffiJo. 

dr mm.?,n9:l,)m16)eJ · cruoworo 6fD rooe:,u(li) 

cruamibc3arrm16)~ ®?l~OJ.?,o romm1® roc:fu@ 

cru am ib(3C0®16l eJ ClJ,)®1 w om ClJ.?,o 
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